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1. Write down the name of a unit that is used to measure

i) the length of a field

ii)
the amount of petrol in a lorries petrol tank

ii) the area of carpet for a floor
iv)
the weight of a fountain pen
(4)

2. The diagram shows a map of Atlantis

The map has been drawn to a scale of 1cm to 40km

a) What is the actual distance between Atlanta and Bluetown in kilometres? (1)
b) 8 km is about 5 miles. What is the distance between Atlanta and Bluetown in miles? (3)
3.

The signpost is on the road from Lyon to Villier

a) Work out the distance from Lyon to Villier in kilometres along this road. (1)
b) Work out the approximate distance in miles from the signpost to Villier (2)
4. A can of lemonade holds 330ml.How many cans of lemonade have to be opened in order to fill a 2½ litre jug?

5. Two runners, Alex and Chris, each run a race. They both finish in exactly the same time. Alex ran a 1500m race, Chris a 1 mile race. 

a) Which is the longer race? (5 miles = 8 kilometres)
(2)
(Show all your working out)

b) Who is the quickest runner? (1)
6.  The map shows the locations of the highest mountains in England, Scotland and Wales

     It is drawn to scale.


a) Scafell Pike is 3200 feet high. 

i) Ben Nevis is 1200 feet higher than Scafell Pike.

How high is Ben Nevis? (1)
ii) Snowdon is 850 feet lower than Ben Nevis.

What is the height of Snowdon? (1)
iii) Estimate the height of Scafell Pike in metres (1)
b) The actual straight line distance from Snowdon and Scafell pike is 100 miles.

i) What is the scale of the map?
(1)
ii) Estimate the straight line distance, in miles, between Scafell Pike and Ben Nevis.
(1)
iii) What is this distance in kilometres if 1mile is about 1.6km?
(1)
7. A milkman delivers milk in pint bottles. He starts his round with 1200 bottles. 

a) How many gallons is this?
(8 pints = 1 gallon)
(1)
The milkman starts to deliver 4 pint plastic bottles. 1/3 of the milk the milkman starts with is now in the plastic cartons.

b)i) How many pints of milk are now delivered in the plastic cartons?
(1)
ii) How many plastic cartons does the milkman start his round with?
(1)
iii) How many litres of milk are in a plastic carton?
 (1 pint = 568ml)
(2)
8. At a beer festival in Germany a British man on holiday drinks from a litre glass. 

He drinks 3 glasses of the finest German Lager. 

When at his local pub he usually drinks only 4 pints of Lager. 

Did the man drink more or less than his usual? (Show your working)   (3)
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